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QUESTION 1

You connect a host to a NetApp storage system through an FC switch. The host has its boot volumes on the NetApp
storage system.

What is mandatory for you to configure?
A. persistent binding

B. port zoning

C. portsets

D. WWPN zoning

Correct Answer: A

QUESTION 2

A company is planning to use physical Raw Device Mappings (RDMs) in their ESX environment.

Which LUN type should they use on the NetApp storage system if they want to prevent LUN I/O alignment issues?
A. They should use the VMware LUN type.

B. They should use the LUN type matching the guest operating system.

C. ESX will automatically align I/O on WAFL boundaries if NetApp host utilities is installed.

D. Any UNIX LUN type will work since it is an RDM.

Correct Answer: B

QUESTION 3

A company has a Fibre Channel environment and wants to connect a new host in a remote data center using 50/125um
OM2 multi-mode fiber cable and needs to support 2 Gb speeds.

What is the maximum distance of the cable run supported in this situation?

A. 50/125um OM2 multi-mode fiber cable supports up to 500 meters at 2 Gb.
B. 50/125um OM2 multi-mode fiber cable supports up to 10000 meters at 2 Gb.
C. 50/125um OM2 multi-mode fiber cable supports up to 150 meters at 2 Gb.

D. 50/125um OM2 multi-mode fiber cable supports up to 300 meters at 2 Gb.
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Correct Answer: D

QUESTION 4

Click the Exhibit button.
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In the diagram shown, a portset is created on controller 1 with the command:

controllerl>portset create -f ntapportset Ob. This portset is bound to the igroup with all the initiators in it. How many
paths can host 1 see to a LUN on controller 1?

A. six paths
B. four paths

C. eight paths
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D. two paths

Correct Answer: D

QUESTION 5

Which command on a NetApp storage controller will display the average latency time on a per LUN basis every five
seconds?

A. sysstat -i 5
B. sysstat -f 5
C.fcpstats-i 5
D. lun stats -i 5

Correct Answer: D
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